Algebra 1l

A) asx—>~oo, f(x)>—0 and asx—>+w0, f(x) >0
B} asx—>—0,f(x)—>+0c and asx w0, f(x) >0

C) asx—-w, f(x)>+0 and asx >+, f(X) > +w

aSJZ—)P—GO_,f(x)-—}—OO and as x — 40, f(x) —>~o0.

REVIEW WS — Unit 5 QUIZ #1
Analyzing & Sketching Polynomial Functions including Factoring

1. Which describes the end behavior of f(x)=-4x? +17

3.  State the number of turning points.
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Write the End Behavior in terms of infinity

><.:-»__c:f?
X 00 U o

What is the degree of the function?
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5. FACTOR the following expressions.
a) x5~81x
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b) x*+x° ~4x* —4x
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2. Sinte the number of veal zeres for the function
2 whose graph is shown af the right.
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4, Complete the statements for
the graph provided.
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6. GRAEH each of the following functions with the basic shape of each graph. Show all work used to find the end

behavior, the y-intercept,

_f(xj=2.x3 _3x2 = xl 2 )(""}
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ALL the zerps (x-intercepts), their multiplicity and behavior at the x-axis (bounce or cross).

S =3+ — a5t = ax= X i) (X-2.) (6
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Practice Worksheet: End Behavior & Graphing Polynomials

i
:
:
WITHOUT graphing, identify the end behavior of the polynomial function. (HINT: Check for Standard Form)
i

71 y.=2x5+ 7x?% + 4x

MAX # of Turning Points {curves): Hj

Sign of LC (a):“’\, Degree: f 2 !L[!{
a8 X v 00, Y —* s U&

asx~—>.+oo,y~—+ﬂj(\7ﬂ

8] y=-5x

MAX # of Turning Points (curves): Q

|

Sign of LC (@): " Degree:

as X~ — o0, Y — OQ
s X — oo, ya»-r Y

9] y=12x* —2x+5

MAX # of Turning Points (curves):j
Sign of LC (a):i: Degree :MLF_____
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asx -+ oo, y— _ﬁ_

10} y=6~2x— 4x2+5x3

Standard Form: 5.?\ ﬁfx ____O)_ X+ (0

MAX # of Turning Points {curves);
Sign of LC (a): +‘ Degree: .}
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S X ~rit oo,y = (}0

1] yw1+_,2/f'5—4x mzx"
Standard Form: WL,}X +

MAX # of Tuming Points (curves):
Sign of LC (@) Degree: 3‘
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12] y=4dx+2~5x5

Standard Form: "*5)( ‘}’[7/)(7&“91

MAX # of Turning Points (curves): §

Degree: 2

A% X~ 0, Y — *670

Sign of LC (4}
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Ezié] y=—2x343x+1x
{17 y=32%+2

é E 18] y=~;~x5 - 2x° +§x

Match the polynomial function with its graph WITHOUT using a graphing calculator. Thmk about how the deg:,ree of

the. po]ynom% ects the shape of the graph.
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